




















Find the missing term(?)

REASON : 13 

CHAIR : 11

EXAMINATION : ?

(A) 22

(B) 11

(C) 23
(D) 12  



Find the missing CODE (?)

A = 1

CAT = 6

POLICE = ?

(A) 27

(B) 20

(C) 22
(D) 29



Find the missing CODE (?)

A = 1

AND = 18

BAT = ?

(A) 22

(B) 23

(C) 24
(D) 20



Find the missing one (?)

If 7 × 4 = 56, 2 × 7 = 28, then 6 × 6 = ? 

1. 66 
2. 63 
3. 36 
4. 72

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Find the missing :-

7 , 2 = 59  :  5 , 3 = 28  :  9, 1 = 810  :  2, 1 = 13 :  5 ,4 =?

(A) 19
(B) 9
(C) 20
(D) 239 
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Find the missing (?)

4597 : 83 :: 2976 : ?

1. 65
2. 24
3. 39
4. 60

Kuldeep Mahendras Reasoning Daily Class 8:30 PM



Statements:
All engineers are villagers.
No villager is a nurse.
All nurses are managers.

Conclusions:
No engineer is a manager.
All villagers being managers is a 
possibility

EXAMPLE

कथन: 
सभी इंजीननयर ग्रामीण हैं।

कोई ग्रामीण नसस नही ं है।

सभी नसस प्रबंधक हैं।

ननष्कर्स: 
कोई इंजीननयर मैनेजर नही ं है।

सभी ग्रामीणो ं के मैनेजर होने की

संभावना है



Statements:
Some paints are shoes.
Some shoes are sleepers.
All sleepers are shirts.

Conclusions:
At least some shirts are paints.
No shirt is a paint.

EXAMPLE

कथन: 
कुछ पेंट जूते हैं।

कुछ जूतेस्लीपर हैं।

सभीस्लीपर शटस हैं।

ननष्कर्स: 
कम से कम कुछशटस पेंट हैं।

कोई शटस पेंट नही ं है।



Statements:
Some chairs are desks.
No desk is a bench.
Some tables are chairs

Conclusions:
All benches being tables 
possibility.
At least some desks are tables.

EXAMPLE

कथन: 
कुछ कुनससयााँ डेस्क हैं।

कोई डेस्कबेंच नही ं है।

कुछ टेबल चेयर हैं

ननष्कर्स: 
सभी बेंच के टेबल होने की

संभावना है।

कम से कम कुछ डेस्क टेबल हैं।



Statements:
Some cows are camels.
All camels are buffaloes.
No buffalo is a fox.

Conclusions :
Some camels are foxes.
No buffalo is a cow.
No cow is a fox.

EXAMPLE

कथन: 
कुछ गाय ऊंट हैं।

सभी ऊंट भैंस हैं।

कोई भैंस लोमडी नही ं है।

ननष्कर्स: 
कुछ ऊंट लोमडी हैं।

कोई भैंस गाय नही ं है।

कोई गाय लोमडी नही ं है।



Statements:
No printer is a scanner.
Some scanners are mouses .
Some mouses are keyboards.

Conclusions:
Some mouses are scanners.
No keyboard is a printer.
No keyboard is a mouse.

EXAMPLE

कथन: 
कोई नपं्रटर सै्कनर नही ं है।

कुछ सै्कनर माउस हैं।

कुछ माउसकीबोडस हैं।

ननष्कर्स: 
कुछ माउस सै्कनर हैं। कोई

कीबोडस नपं्रटर नही ं है।

कोई कीबोडस माउस नही ं है।



Statements:
All phones are tools.
Some tools are letters.
All letters are stars.

Conclusions:
All phones being stars is a 
possibility.
At least some letters are phones.

EXAMPLE

कथन: 
सभी फोन टूल हैं।

कुछ टूल लेटसस हैं।

सभी अक्षर तारे हैं।

ननष्कर्स: 
सभी फोन केस्टार होने की

संभावना है।

कम से कम कुछअक्षरफोन हैं।



Statements:
Some poles are pots.
All pots are plants.
Some plants are leaves.

Conclusions:
Some poles are plants.
All plants being leaves is a 
possibility.

EXAMPLE

कथन: 
कुछ डंडे बतसन हैं।

सभी बतसन पौधे हैं।

कुछ पौधे पते्त हैं।

ननष्कर्स: 
कुछ पोल पौधे हैं।

सभी पौधो ं के पते्त होने की

संभावना है।



Statements:
All woods are chairs.
No chair is a table.
Some tables are copies.

Conclusions:
Some woods are definitely 
tables.
No table is a chair.

EXAMPLE

कथन: 
सभी वुड्स चेयर हैं।

कोई चेयर टेबल नही ं है।

कुछ टेबलकॉपी हैं।

ननष्कर्स: 
कुछ वुड्स नननितरूप से टेबल

हैं। कोई टेबल कुसी नही ं है।



Statements:
All brinjals are vegetables.
Some vegetables are potatoes.
No potato is tomato.

Conclusions:
All potatoes being brinjal is a 
possibility.
No vegetable is a tomato.

EXAMPLE

कथन: 
सभी बैंगन सब्जियााँ हैं।

कुछ सब्जियांआलू हैं।

कोईआलू टमाटर नही ं है।

ननष्कर्स: 
सभीआलू के बैगन होने की

संभावना है।

कोई सिी टमाटर नही ं है।



Statements:
Some magazines are laptops.
No desktop is a laptop.
No phone is a magazine.

Conclusions:
Some laptops are not phones.
Some desktops are phones.
No magazine is a desktop.

EXAMPLE

कथन: 
कुछ मैगजीन लैपटॉप हैं।

कोई डेस्कटॉप लैपटॉप नही ं है।

कोई फोन मैगजीन नही ं है।

ननष्कर्स: 
कुछ लैपटॉप फोन नही ंहैं।

कुछ डेस्कटॉप फोन हैं।

कोई पनिका डेस्कटॉप नही ं है।



Statements:

All pens are pencils

No pencil is an eraser

Conclusions:

I. No eraser is a pen

II. No pencil is an eraser

EXAMPLE

कथन: 
सभी पेन पेंनसल हैं

कोई पेंनसल इरेज़र नही ं है

ननष्कर्स: 
I. कोई इरेज़र पेन नही ं है

II. कोई पेंनसल इरेज़र नही ं है



Statements :

All apples are bananas.

All bananas are sweet.

Conclusions :

I. Only some apples are sweet.

II. Some bananas are apples.

EXAMPLE

कथन: 
सभी सेब केले हैं।

सभी केले मीठे हैं।

ननष्कर्स: 
केवल कुछ सेब मीठे हैं।

कुछ केले सेब हैं।



Statements:

Only tables are chairs.

Some tables are desks.

Conclusions:

I. All chairs are desks.

II. Some desks are tables.

EXAMPLE

कथन: 
केवल मेज कुनससयााँ हैं।

कुछ टेबल डेस्कहैं।

ननष्कर्स: 
सभी कुनससयााँ डेस्क हैं।

कुछ डेस्क टेबल हैं।



Statements :

Only a few teachers are doctors.

0% teachers are lawyers.

Conclusions :

I. All lawyers are teachers.

II. Some doctors are not lawyers.

EXAMPLE

कथन: 
केवल कुछ नशक्षकडॉक्टर हैं।

0% नशक्षक वकील हैं।

ननष्कर्स: 
सभी वकील नशक्षक हैं।

कुछ डॉक्टर वकील नही ंहैं।


